cos’2 (P/8 - x) - cos”2 (P/8 + x)="%
(cos(P/4-2x)+1)/2 - (cos(P/4+2x)+1)/2="/2
cos(P/4-2x)+1 - cos(P/4+2x)-1=1
cos(P/4-2x)-cos(P/4+2x)=1
2*cos((P/4-2x+P/4+2x)/2)*cos((P/4-2x-P/4-2x)/2)=1
2*cos(P/4)*cos(-2x)=1

2*\V2/2*cos(-2x)=1

V2*cos2x=1

cos2x=1/\VV2

2x=P/4+2Pn

2x=7P/4+2Pn

x1=P/8+Pn

x2=7P/8+Pn

OTtBert: P/8+Pn; 7P/8+Pn.

cosx+cosy = 2cos((x+y)/2)*cos((x-y)/2)

ONOD®AHTOBbI YPABHEHUA
ax+by=c

1) HOL(a,b) = k
a) c penutcs Ha k, Toraa genum
0) c He genuTcAa Ha Kk => HeT peLueHUN
2) HOLA(a,b) =1
HaxoAAT YacTHble peweHus (x0,y0)
x=x0 + bt
y=y0 - at, rge t - npousBonbHOE Lenoe

npoBepum

a(x0 + bt) + b(y0 - at)=ax0 + abt + by0 - -abt=ax0+by0 = c
HO T.K. X0 , y0 - YacTHOe pelueHue, TO

ax0+by0=c

tg2x*tg7x=1
(sin2x*sin7x)/(cos2x*cos7x)=1
Sin2x*sin7x=cos2x*cos7x
sin2x*sin7x-cos2x*cos7x=0 |*(-1)
cos(2x+7x)=0

cos9x=0

Ix=P/2+Pk

x=P/18+Pk/9

cos2x*cos7x!=0

cos2x!=0

2x!=P/2+Pn

x!=P/4+Pn/2

cos7x!=0

7x!1=P/2+Pn

x!=P/14+Pn/7

(cos2x*cos7x)!=0

P/18+Pk/9!=P/4+Pn/2
1/18+k/91=1/4+n/2 |36
2+4Kk!1=9+18n
2+4k-9-18n!=0
4k-7-18n!=0

4k-18n!=7

HeT pelueHumn
P/18+Pk/9'=P/14+Pn/7
1/18+k/9'=1/14+n/7 |*126
7+14k!1=9+18n
14k+7-18n-91=0
14k-18n-2!=0
14k-18n!=2

7k-9n!=1

kO=4 n0=3

k=4-9*t

n=3-7*t

OtBeT: P/14+Pn/7, rae n!=3-7*, roe t- nponsBonbLHoOE Lenoe
HOK(14,18)=2*7*9




